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(Bl = 8l) 3Q ‘17 CEED 3Q ‘16 QECIESD) 2Q '17
Ojj = o 62.05 100.0% 47.82 100.0% 61.00
O =& 7t 33.00 53.2% 29.41 61.5% 32.40
oj = %09 29.04 46.8% 18.40 38.5% 28.60
EhEH| 14.51 23.4% 13.20 27.6% 14.53
- AT 418 6.7% 3.51 7.3% 3.97
Aol 14.53 23.4% 5.20 10.9% 14.07
7|EtE Q| 4=2l/H| & 0.10 0.2% 0.54 1.1% 0.12
INE= e 0.08 0.1% 0.01 0.01% 0.02
as=9 0.20 0.3% 0.23 0.5% 0.20
HolM| XpZtH o]l 14.91 24.0% 5.97 12.5% 14.41
HeIMHE 3.72 6.0% 143 3.0% 3.36
=0[9] 11.19 18.0% 4.54 9.5% 11.05
IR AOl A1 IlE
3Q '17 3Q '16 2Q '17 3016 2Q 17 301

ROE 22% 10% 22% 15 329%

D= =0|YE (&0|/0iZ=) 0.18 0.09 0.18

ERFA B H S ()Z/S KA 0.89 0.79 0.90 21% 22% 22%

M 2| X| (BAH/SXH) 1.38 1.36 1.37
EBITDA O} %I 32% 21% 31% 10%

ROE =B=EBITDA Margin
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=
(CHel: =8) 3Q '17 3Q '16 2Q '17 YoY QoQ
ol 62.05 47.82 61.00 30% 1 2% 1
CEERZR 11.13 10.78 10.92 3% 1 2% 1
VD 6.52 6.60 6.18 1% 1 6% 1
IMEZE 27.69 22.54 30.01 23% t 8% |
2M 27.20 22.09 28.92 23% 1 6% |
DS 2 & 28.02 20.29 25.25 38% t 11% 1
HE A 1991 13.15 17.58 51% 1 13% 1t
- HE2e 16.30 9.86 13.94 65% 1 17% 1t
DP 8.28 7.06 7.71 17% 1 7% 1
Harman 2.09 2.15 3% |
o1 0i()| ol
(CHel: =8) 3Q '17 3Q '16 2Q '17 YoY QoQ
= o 14.53 5.20 14.07 9.33 0.47
CEERZ 0.44 0.79 0.32 A0.34 0.12
IMEBZR 3.29 0.10 4.06 3.19 A0.77
DS & 10.85 4.40 9.69 6.45 1.16
HE X 9.96 3.37 8.03 6.59 1.93
DP 0.97 1.02 1.71 A0.05 A0.74
Harman A0.03 0.01 A0.04
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[EH1] 2T A
(Tl - Q)
T 2 179 38| 179 282 0|Y ‘161 3E7|Y
Xt Ab 2,965,786 2,775,894 2,444,715
-Hz X 760,807 705,499 830,681
- fEx-A 303,512 275,859 216,932
- R DXFAE 270,325 230,209 183,782
- EXFRFAR 154,023 149,214 124,453
- QBXAL 1,090,061 1,036,952 838,738
- B XA 153,762 152,213 50,882
- 7|EFRFAE 233,296 225,948 199,247
XA 2,965,786 2,775,894 2,444,715
=y 858,873 768,837 649,351
- g2 185,621 167,118 129,573
- O UXH 2 113,674 90,758 78,573
- O[X|23H & 237,395 228,214 189,419
- O|X| 2 - I 54,461 34,722 17,821
(= 20,406 20,237 23,260
- 7|EREAY 247,316 227,788 210,705
i = 2,106,913 2,007,057 1,795,364
- xtE2 8,975 8,975 8,975
Frier xt2A| 2,965,786 2,775,894 2,444,715

S0 =7t 38 A,

g71 8710 s

1749 327|%

174 287

164 327|%

*3HE (FSAH/FESEH) 220% 226% 262%
2XH 8 (BEXM/SXE) 41% 38% 36%
A aHlE (EXLa/SAHE) 9% 8% 7%
=X gt g (Rt a-2da)/EAE) A27% N27% £39%
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